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00 Hamiton 000 000000000000 DO0O0OOOOO0OOOO 400000
oo0,00 «b000,0000 cODOOO00ODO0ODO ab=cO0000D00DOOODOODOOO

le| = |al[b] (2.2)

oooooooooon e b,c000D0000DOO0O0ODOOOOOODOOODOOODODOO a,b,c0O00D0O0
oboooooboooooaon
0000000 (22)0000000000000OOOO0O

a=a+1i8
b=~+1ié
c=e+iu

ooooooooo

ab = (a+i6)(y + i9)
= (ay — B6) + i(ad + B7)

a

c=e€e+iu
gooooad

e=ay— (0

p=ad+ By
gooooad

0000 | =]/ 000000000000 DO00D00
c]? = € + 1 = (ay — B6)* + (ad + Bv)?

ooo,00
laf?[b]? = (o + 5%)(v* + 6°)

0000000 (ay—B6)2+(ad+6y)2 000000,
(ay = B6)% + (@b + B7)* = (a® + 6%)(+* + 6%)
0000000,0000000000000

lc| = [al[b] O (2.2)

800000 4j=4 0000000000 +0 j00000000000000000000000000
%; 000 1,4, 0000000000,00000000003000000000 ADODOOOOODOOOO0O000 eg,ey,ex

000000 A=Aze: +Ayey+A.e, 000000000000 DOO
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000000000
00,000000000000000

|| = |al?[bl* (2.3)
000000000000000000000000MO000000000000000'°0
0000200 000" a+bi+e¢j0 2+yi+200000000000000000000000OCO
0000000000 00000000000000000000000000
0000000000, 0007 a+bi+¢ 000000000000

(a+bi+cj)* = (a® — b* — ¢2) + 2abi + 2acj + 2bcij
00000000000,000000000
(a® = b* — )2 + (2ab)* + (2ac)? = (a® + b* + ?)? (2.4)

000000,0000 400000 200000000000000000000,0 40000000
0oooooo

000000004 00000000000000000000000000000 4j=0000000
0000000000000,0000000000000000 HamiltonOO0O000

O0000Hamiton 0000000000000 j=00000000 ji=—ij000000000000
00000000000000000 2beij0 ji=—ij 00000000000, beij+beji = (be—be)ij =0
00000, 00000000000 (24)0000000000000

000 ij=kji=—-k00000 kO0O0O0OOD0O000000O000000O0OOO0

00000 000*00000000000,00000000000000000000000* OO0
0" at+bi+cj0 z2+bi+cj 0000000

(a4 bi+ cj)(x +bi+cj) = (ax — b* — ) +bla+2)i + c(a+z)j + (bc — be)k
= (ax — b* — &)+ bla + )i + c(a + x)j

0000,k 000000 be—be=00000000
(ax — b% — )2 + [b(a + 2)]> + [cla + 2)]* = (a® + 0> + ) (2 + b* + 2)

000000000000 00,000000 (23)000000000
oooooD ji=—y 000000000000 000ODOD0O0,kO0DOO0DOODOOOODODODOO
ooooooooDoO* 000" a+bi4+cg 0 z4+yi+2j 000

(a+bi+cj)(x+yi+zj) = (ax — by — cz) + (ay + bx)i + (az + cx)j + (bz — cy)k

oo0ooooog,ji=—j=—k0000000000
000000 k00000 bz—eyOOOOOOODOOO (2.3)

(ax — by — c2)* + (ay + bx)* + (az + cx)? = (a® +b* + &) (2 + y* + 2%) (2.5)

0000000000000000000 no00D0D0D0DODODO, (250000000000 (bz—cy)?00
Ooooooo00 -y kOOODODODOOOO
goooo

(ax — by — c2)? + (ay + bx)? + (az + cx)? + (bz — cy)? = (a* + b* + 2) (2 +y* + 2?) (2.6)

oooobooooo

loggp* 00000000 (21),00000000 (25000000 (250000000
gpQoo (25)00000000000000000000000000000000
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000000 Hamilton 000000000000 k00000000000000000000000,
000" 0O00*0000000° 000" 00000000000000 #0000000000000,
“ 000’000 000’00000000000000000000000000000¢ 000”0° O
00*"0000000000000000000?20

00000000 k00000400 j00000000000000000000000 a+bi+cj+dk
000000000000000000000000

000000 a+bi+cj+dk 000 z4yi+2j+wk000000000 (23)00000000006
00000,00000000000000000000000000000000000000000000

00000 a+bi+c¢j0 24yi+2j 0000000 k000000,0000000000000000
000000000000,00000000 at+bitc+dk000 a4yit+zj+wkD d=0, w=00
000000000000000000000000000000 ij=k000000000000000
0000000 (2.3)

(ax — by — c2)* + (ay + bx)* + (az + cx)? + (bz — cy)? = (a® +b* + 2 + 03)(2? +y* + 22 +0?)

0000o000ooo (2600000
O00000 Hamilton 0 OOD0O " 0000000 ODOOOO,0000D00O00O0ODO0ODOO

25 UJUoooood

000000000 a+bi+c¢j+dk000000,2000000000000 3000 4,5,k0000
ij, ji, jk, kj, ki, ik
000000000020 40 400000
ij =k, ji=—k
00000000,00 jkkj,ki,sk04000000000000000000000000000
00 k=4 0000000 ik=1iij=4%j=—j0000000 kj=1jj=4j2=—- 00000000

00000000 Hamilton O
ki=j, jk=1

00000000000000,ji=—ij=-k00000,

ki = —jii = —ji® = j, jk=—jji=—j%i=1i
00000000000
0000000 k2000000,

k* = (i)? = ijij = —ijji = —iji =i = —1
00000,k*=-1000000000000000000000000
000000000

P?=j=k=-1 (2.7)
ij=—ji=k (2.8)
jk=—kj=1i (2.9)
ki = —ik =j (2.10)

POogoo000000000000000000000000,000000000000000000000000000,0000
goooooooooooOoOoOoOo,b00000000000,000000000C0C0O00000O0C0COOO0OOOOOCOOOOOO
goooooooooooooooooOoOobboooooooo
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ocooooooooobooo,1b00 3000 4,5,k000000000000O

loi=i-1=7i (2.11)
l-j=j-1=j (2.12)
l-k=k-1=k (2.13)

ocoooooooooooooboooo110b00o0DbobOo,0000D 100000 1,4,5, k00000000

021000

gbooooooobooooboobO,0b0bcoboob0obobooooobOob0oboboooOoobOoboOoon
ocoooooooooobooOooobo s0000DbO00 jOODOOO yy=k000000O000O

26 UJUOoOooOn

gboooboooobo,ocobooooboobooobooboooobobooonog

00, Hamilton 0000000000000 OOO (guiding principle) 000000000 (2.3) 0000
oobooobooooooooboooobOo,00b00obo0o0b0o,0ooboobooobooobooooooon
goooboobooobooboooogoboooon

0000000 a4+bi+cj+de0 o+yi+2k+wk00,000000 A+Bi+Cyj+Dk0O000OO0O
oooooobooog,

(a +bi+cj +dk)(z + yi + zk + wk) = (ax — by — ¢z — dw) + (ay + bz + cw — dz)i

+ (az + cx + dy — bw)j + (aw + dx + bz — cy)k (2.14)
goooo
A=azx —by —cz —dw (2.15)
B=br+ay—dz+cw (2.16)
C=cx+dy+az—bw (2.17)
D =dxr—cy+bz+aw (2.18)
good
0000000000 (2.3)

A+ B2+ C?+D? = (a®> + V¥ + 2+ d%) (2 + v* + 2% +w?) (2.19)
oooooooooo
00 (2.15)-(218)000000 A,B,C,DO0O0O0DOD0 20000000,
A% = a%2? + b2y? + 222 + d*w? — 2abxy — 2aczz — 2adrw + 2beyz + 2bdyw + 2cdzw
B? = b%2% + a®y? + d?22 4 Aw? 4 2abzy — 2bdxz + 2bcxw — 2adyz + 2acyw — 2edzw
C? = Pa? + d*y? + 022 + b*w® + 2cday + 2acxz — 2bcxw + 2adyz — 2bdyw — 2abzw
D? = %% + Ay? + b22% + a®w? — 2cdzy + 2bdxz + 2adzw — 2beyz — 2acyw + 2abzw
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0000,00000000000000000000 2y, 22, 2w, yz,yw, 2w 000000000 (cross terms)
00000000000 0000,00 22,942,222 000000000 «2+b?+c2+d?00000000
000 (219)00000,000000 (23)0000000000

27 goooon

000 a+bi+cj+dk 0000 24+yi+2j+wk 00000000 A+Bi+Cj+Dk0000000O0O
r4+yi+zj+wk00000000000000O000O0O0OOOO0O0O0OO (2.15)-(2.18)0 z,y,z,w 000
0000O0a=0,=0,c=0,d=000000, (2.15)-(2.18) 00000000000

:L':%(GA+bB+CC+dD)

y:%(—bA—i-aB—l—dC—cD)
z:%(—cA—dB-l—aC—i-bD)
w:%(—dA—i—cB—bC—i-aD)

A=ad’>+1>+2+d>

000000000,000000000000%0

28 JUOb0oooon
2200000000 e6000000000O00O,0000000O00O0DOO0ODOODOODODO
l. 00oobobooooobooooboooo
2. 000000000000 O00OO,DO00O0O00O0O00bO0o0bOobOO
3. 000o0oboon
4. 000 o000D0O0O00OOOODOObOOODObOOnOn
5. JO0O0bOO0OO0O0OODbOOOOn

6.“ oo "oooooobooboo, bobor"b30bobooooooooobooobooooboobon,
ooboooboode+cj+dk0 300000000000 0DOO0ODODOOOLDOO,D0DObOOOOO
jJooboooobooboooobobn

00000000 ai+bj+ckD vityj+zk00000000
(ai +bj + ck)(xi +yj + zk) = —(ax + by + c2) + (bz — cy)i + (cx — az)j + (ay — bx)k

goboo,0boooboobooboobooooboobooobooobooooboobooo,0booboooboobooon
ooooooon

13(2.15)-(2.18) 00D O0DO00O00O00O00O0O00O0000000000000000000000,00000 Cramer 10000
00000000 (214) 0000000000 a+bi+cj+dk 00000000000
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29 0O00OO

0000000000000000 400 Cauchy-Lagrange 0000000 [1]0D0000O00O0O,000
Hamiton 00000000000 DOOCOOO0DOOOODOOOOODOOOODOOO

ubobuoogbouooogoaobooboooobaba,bobobobaobooooa,uooaooo
gbooboboobobooobobooboboobobooboboboobobbooboboobon
goooooboooooao
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oo
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oo

0000000 nNnooooooboobooboooooobooobooobooobioobooobooooon
oooooooobooobooooboobooboobobooo100ooboooboooboooboobooboooOooon
gboboobooboobobobOobobobobDOobOobOobooDoooooooboooooDooooooGg
oooooooocoooooon

o01oooboool1ooooobooobo3gbooooooooo 200000000 100110000
goboobobooooboboooooboooooboboboobooboobooDo

bboobooooboobooooobooooboboooobooboooobooboooDoOo oo



